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No EF4 EFGE TR -3 | zof | FEE | UA nAC | nAH | ... -2 TR matE HAE(E BEHE HAE(E
24 | B | oE=E w01 -] 1 | FE ema| P | sy | xeRm | xeRm | xgEm | oxpem | BF
1 |A(3F) = TR 80.28 27.87 30.09 22.32 0.56 1.7 1.4 75.7 78.6 O 1 75.7 78.6 575 75.5 0.77
2 |A(4F) o R 80.28 27.87 30.09 22.32 0.56 19 1.6 74.9 78.6 O 1 74.9 78.6 56.8 75.5 0.76
3 |A(5F) o R 80.28 27.87 30.09 22.32 0.51 1.8 15 73.5 78.6 (@) 7 5145 550.2 387.1 528.5 0.74
4 |A(12F) =51 80.28 27.87 30.09 22.32 0.51 1.8 1.5 733 78.5 O 8 586.4 628.0 440.8 603.2 0.74
5 |A(20F) &= ERE 80.28 27.87 30.09 22.32 0.59 2.2 19 76.3 78.5 O 1 76.3 78.5 58.1 75.4 0.78
6 |B(2F) = TR 63.48 24.39 17.99 21.10 0.51 1.0 1.1 61.7 65.0 O 1 61.7 65.0 46.3 62.0 0.75
7 |B(3F) o R B 63.48 24.39 17.99 21.10 0.40 1.0 1.1 57.0 65.0 O 1 57.0 65.0 41.6 62.0 0.68
8 |B(4F) o R B 63.48 24.39 17.99 21.10 0.36 0.9 11 55.6 65.0 O 8 4448 520.0 3224 496.0 0.65
9 |B(12F) =51 63.48 24.39 17.99 21.10 0.36 1.0 1.1 55.7 64.9 (@) 8 445.6 519.2 322.4 495.2 0.66
10 |B(20F) &= EME 63.48 24.39 17.99 21.10 0.57 1.8 19 63.1 64.9 (@) 1 63.1 64.9 47.7 61.9 0.78
11 |C(1F) = TR 71.31 25.11 8.25 37.95 0.41 1.0 09 58.0 63.9 (@) 1 58.0 63.9 414 59.0 0.71
12 |C(2F) =51 71.31 25.11 8.25 37.95 0.37 1.1 1.1 56.6 63.7 (@) 1 56.6 63.7 39.9 58.7 0.68
13 |C(3F) =51 71.31 25.11 8.25 37.95 0.35 1.0 1.1 55.7 63.7 (@) 9 501.3 573.3 351.0 528.3 0.67
14 |C(12F) =51 71.31 25.11 8.25 37.95 0.35 1.0 1.1 55.6 63.6 (@) 8 444 8 508.8 311.2 468.8 0.67
15 |C(20F) &= EME 71.31 25.11 8.25 37.95 0.56 1.8 1.8 62.0 63.6 (@) 1 62.0 63.6 453 58.6 0.78
16 |[D(1F) = TR 76.88 25.30 28.56 23.02 0.51 1.7 14 71.3 75.5 (@) 1 71.3 75.5 53.7 72.3 0.75
17 |D(2F) =51 76.88 25.30 28.56 23.02 0.50 1.8 1.6 69.5 75.0 (@) 1 69.5 75.0 51.8 71.7 0.73
18 |D(3F) =51 76.88 25.30 28.56 23.02 0.50 1.8 1.6 69.5 75.0 (@) 9 625.5 675.0 466.2 645.3 0.73
19 |D(12F) =51 76.88 25.30 28.56 23.02 0.50 1.8 1.6 69.3 74.9 O 8 554.4 599.2 413.6 572.0 0.73
20 |D(20F) &= EME 76.88 25.30 28.56 23.02 0.60 2.2 2.0 73.1 74.9 (@) 1 731 74.9 55.5 71. 078
77 4916.5 5,420.9 3,610.3 51414 0.71
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